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i (R)BT#f BIER%A e RIEF AN E AN E AN ES AR EF A ETAHES AR EF AN EF AN ET AN ES AN EFRIELAET#X
R B X EEFNA 0 1 1 3 2 0 0 1 0 3 0 0 1 1 1
KRR e X% PR 0 6 0 7 4 1 1 2 3 3 1 2 0 0 2
KX [[RPFR 0 2 2 1 2 1 2 0 2 2 1 0 0 1 0
AT EIIEX 8= ) X Fhr 0 0 1 1 1 2 2 0 3 2 0 1 1 3 1
KIRTFEFX [R5 0 0 2 3 0 1 1 3 4 3 0 2 1 3 1
KERTERX KEFER 3 4 2 6 6 7 3 5 3 9 1 3 2 4 2
KRR BEE/INER 0 6 3 10 2 5 3 3 4 4 1 0 1 1 1
KRFEZIR FINER 0 3 1 3 1 0 2 4 4 3 0 2 1 4 0
KB EEFX B ER 1 4 3 9 4 5 2 4 5 4 2 1 3 0 1
KR FEREX SERER 0 1 1 1 1 0 0 0 0 1 0 0 1 1 1
PN NER/NER 0 3 0 5 2 2 1 0 1 1 0 0 0 1 1
KirhEgERX &AL 2 2 1 4 2 2 0 1 4 11 2 2 2 3 1
KiriEERX R PR 0 2 1 4 2 1 1 2 1 2 0 0 0 1 0
(KB H{F 2 TR |[FEERRAE - - 0 1 0 0 1 1 0 1 0 1 0 0 0
AR X Iy 0 9 3 1 2 0 1 0 1 0 1 0 3 2 1
BhiEX EE 0 6 1 1 2 1 1 3 3 2 0 2 2 0 1
BhiEX hiE 0 0 2 4 1 0 2 1 1 1 0 1 2 0 0
Eiliik(q=S %H 0 9 4 5 2 3 3 3 2 1 3 0 5 4 1
AR X =% 0 1 1 2 1 0 0 2 1 2 0 0 0 0 0
BhEEX PR iN=) 1 7 7 16 10 6 7 7 6 10 5 3 5 4 2
BHEX ZER 2 17 3 15 7 4 9 6 8 10 6 2 9 5 2
BhEEX NS 1 16 2 13 3 1 6 3 5 2 4 |- - - -

hiilaal =3 EFF 0 7 5 4 4 3 5 5 5 4 2 1 3 0 1
BHEREX EJ - - - - - - - - - - 1 1 1 1
r%ﬂEﬂFﬁ EHRPRAR 0 4 2 4 0 3 0 2 1 2 3 2 2 1 0

Egmh 7 H 5 5 1 7 2 4 2 9 2 0 0 |- - - -
“’-‘“-'E:Fi F 0 4 1 4 0 0 0 0 0 2 0 0 1 0 1
AT HAHIIEEEE 0 1 2 5 0 1 0 1 0 1 0 1 0 1 1
W HE ™ W A E K 0 0 0 8 2 7 2 2 2 6 0 0 0 3 0
wHETH wHETILEFE 1 16 6 16 3 9 2 6 6 11 6 2 0 2 2
e H ERHE] 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0
RXREH RREFRBEISY 0 1 2 1 1 0 0[- - - - - - - -
RKFET RRETEMN 0 0 1 0 0 0 0 2 0 1 0 2 2 1 0
SHH S 0 8 3 10 4 4 1 10 2 6 1 0 3 6 1
=SHh =Hde 0 5 2 3 1 0 0 6 3 0 0 0 1 0 1
BiFth BIETHE 1 7 3 0 1 1 0 2 0 4 5 3 5 1 0
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i (R)BT#f BIER%A SRR 9 [FERR 10 E R 1| Bl 2 °F B 1 3 SE Rk 1 4] F B 15[ A1 6 S Rk 1 7 *F Bk 1 8| T B 1 9 °F B20 SE Rk 21 | °F B2 | F Ak23
At %EH%&%F)? 0 2 1 5 1 0 0 0 0 2 0 0 0 4 2
Ot —RIER(£H) 0 0 0 3 0 1 0 0 0 0 0 0 0 0 0
Ot ""_ ZRER(KH) 0 2 0 3 0 1 0 0 0 0 0 0 0 0 0
SFOTH %" BIERD (58) 0 1 0 3 0 0 0 0 0 0 0 0 0 0 0
WA WE 0 5 0 3 1 0 1 3 1 0 0 0 3 2 1
S alitl WATHERRT 0 6 1 4 1 0 0 6 1 0 1 0 1 4 1
wA™H EXmU/NE| 0 4 0 5 0 0 3 8 5 1 2 0 1 2 1
WA &8 0 5 2 5 0 0 0 4 0 0 0 0 - - -
*ATH RATHEF 0 0 0 0 0 0 0 1 1 0 0 0 0 0 0
XA HIR/NEAR - - - - - - - - - - - - - 0 2
BT J\EREEFR 0 8 1 3 0 1 1 0 0 3 1 0 1 6 1
RIEETH JERIEEF 1 8 |- - - - - - - - - - - - -
RIEHTH {EFF PR - - 3 6 1 0 2 3 1 2 1 0 0 0 0
RIEFFH RIEHFHEM 0 4 3 2 1 0l- - - - - - - - -
= H#H = HMETHERT 4 5 3 12 12 6 15 10 9 14 6 1 5 4 1
EEIJITH EERJIH&EE 0 4 3 7 2 1 3 2 2 8 2 0 3 5 2
EEIJITH B H 1 1 6 9 4 4 5 6 1 6 3 0 0 0 2
,TWEE]’FH ZHHAREE 2 9 3 9 15 7 15 7 10 11 8 1 7 4 2

N KBt 72— 1 0 0 1 0 0 0 1 o[- - - - - -

NEGH KIZER 0 0 0 0 0 0 1 0 1 2 1 0 0 0 0
XEM RKEHER 0 5 0 5 3 0 0 2 3 4 1 0 0 1 1
fET BT BEINVER 1 9 2 7 9 4 4 4 2 6 6 3 5 3 1
il LSRR 2 9 1 10 11 5 8 6 7 5 3 2 2 6 1
il HEHER 0 4 0 1 0 0 0 0 0 3 1 0 0 0 0
FMET PAE %A 1 1 0 4 0 1 2 4 1 3 1 0 0 2 2
FMET FAEHmE 1 5 2 4 1 0 0 7 1 5 0 0 0 1 1
==k EaEE N 0 8 3 5 2 2 2 1 2 4 2 1 3 2 1
SAahH SATAEERtE 22— 1 3 1 2 1 0 0 0 o[- - - - - -
=2AtH FHXRZE 0 3 4 3 3[- - - - - - - - - -
=SAah S A:EEE SR EHIRRR - - - - - - - - - 0 0 0 1 0 0
=hamH SfE/NERR 0 0 4 0 1 0 11]- - - - - - - -
=hamh A /DR 2 7 2 12 2 1 5 e - - - - - -
BHFH BAFFHEN 1 5 4 5 3 2 4 4 5 11 3 1 1 6 1
EHIFTH EERFE/NER 0 0 2 3 0 0 0 5 7 7 2 1 0 1 1
E PNl BRRERGAERELZ— 2 11 2 4 1 0 0 1 0 2 0 0 1 1 1
EPN il RAMRTABRT T & 3 12 2 8 1 1 6 1 3 3 0 0 1 0 1
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REH RETHERN 1 5 1 1 2 0 1 0 1 2 1 2 0 0
i B THhIR AR 1 1 0 0 0 7 8 9 6 7 5 2 1 0 1
Mg FEEH 0 4 1 4 3 0 0 2 0 1 2 0 3 0 1
EAHT EARETRIS 0 9 3 2 2 1 1 2 1 3 3 0 2 2 1
%‘iﬁ‘é EHERTIRIG - - - - - - - - - - - - 0 0 0

BEHRHT BEERET 1% 15 1 3 0 0 0 1 0 1 0 4 4 1]- - -
mﬂ!EET WH BT 1% 15 1 4 1 0 0 0 0 0 1 0 0 0- - -
\ER T ZF 0 4 1 1 0 0- - - - - - - - -
\WER T s 1 5 2 2 0 0]- - - - - - - - -
WER T = 3 3 1 0 0 0]- - - - - - - - -
SRR X R AT 0 0 0] - - - - - - - - - - -
EMET REREtE 45— 0[- - - - - - - - - - - - - -
E AT EMAHER 0 1 0 0 0 0 0 0 - - - - - - -
Lrhth EhhiRm 0 0 0 2 0 0 0 0 0 0 0 0 1 0 1
EXL:hi FE 0 0 0 |- - - - - - - 0 0 0 0 0
NER WEILNER 0[- - - - - - - - - - - - - -
MEH E /DR 0|[- - - - - - - - - - - - - -
EEm EETHEMN 0[- - - - - - - - - - - - - -
PNl BEAERTEREGEERE L2 0 0 1 0 0 0 0 2 0 5 0 1 0 1 1
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